SECTION 7.4: AREA IN POLAR COORDINATES

(1) Suppose r = f(0) is a continuous and nonnegative on the mterval from oo < 0 < 3, then the area
bounded by r = f(6) and the radial lines § = o and § = w ‘\ﬁ
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(2) Set up and evaluate the integral to find the area enclosed by the polar curve r = 10 cos(6).

,o.
\ / A= g'%émsezt‘edo os & do

(0 4 - AU o

o /,,% ¥ 2D = 25 S(l + €05 (749)3 do

R, 947
0 =as(o+4 sm(fb\

= ;u;(@r +o)-o)3 2571 v

-




(3) Let R be the region enclosed by the polar curve r = 2 cos(36). Shade the region R, then Set up and
evaluate the integral to find the area of R.
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